2 T E SR

RERFE  18:40 ~ 21:30
AEER)] = 5B 1R B2 5 3HF
2(K) NP & WSV 5o SSS B 21 20451
43 AW BEIL T KR DOYEE
5(H) | #=Mik 18:30~21:30 H2&B4E (144) X%
7 (k) 2 |HF2 ENL R a2 1K Ji5E1 Let’s Read 1
44 WANALRE
9 (R) 3 %3 N R E3E1 ta—~v /AR HE2 B F
45 FLoH IKESHE DYEE
140K | 4 (B4 ELHER [EHFE2 FORWEEE HFE2 Let’s Read 1
46 F b
16(R) | 5 |#EE3 1B H YFE3 Unit 4 23 2045
47 IKESHE DMEE
19(H) | FoE#ERR 19:05 ~ 21:45 (GRENTIFARL TSN
210k | 6 |HUes EE (UFEHRTR) (PR (BREL(24F)  |[HES FoRNIEE
48 He i« B BB WE DRV
23R | 7 |Eve 1EOH JiiE4 Unit 4 24 2045
49 Lefi] - B EE A
28(CK) | 8 |ByrT H M 4 FOIRNEEE RS LA
50 Lefi] - B EE A W Eh WE DR
300K) | 9 |BE8 —EAE(24F)  |EHE5 Unit 4 45 2045
51
11A4R | 1 |&%1 —KRE%E HEL (b2 EFEL A% &5
(k) 52 ZALDEIE YIRS

1) 55 2[RI B AR (42 [E i) iPH

EFE -

B o

[

F.
(5]

P

p={}

i O1E S
o AT OE R

AR ST « SCAR SR SR ol BRI, SRR SR, SUA
N RERDIGH, — KB ET
A= B, 40 R - A R BT RE A o 7230 R ERI R T







